O 132 = Q248 2@DsC® B SIAVS _ SihA
1R & 1o
BZ& lq =45 - 14d cos C c |
A C 2y =-1u s C ATg 0 SN65 ,gsh:A
: _ow1=cos 'C 132 = SR
1£C=a9.6° Fyror

W angle

;Bi =

\2 1SN\ @ ryfz " S _ SkhA
5 i

C C

©

i " 940 = Ssink
= |90 -15-25 =%0 qucﬁ:s\\n"A

singD _ sM1S - o A=t
m 190 -4\ = 154

bego = 128015

[b =113

54 +40 =155 4 2 Triangles

TA
® F B
S f 'H\a.
,«/zxqc A 2 C @ h
A LR=L01 P—E@ \
M:SJ\F)E .B’\%D’“?'W\ B =180~ 154 -40
4 C 159 - '24 |° ‘
colbr = dentd s BY %D VLR =Sjv_§p
b - >N
E@ Sewlcad=bsyid  Ssnzd ! =los\HD

Scanned with CamScanner



© B =L (MUs)snios
Jo e (B 12y,

S= 435t L151525 S \O1S

—

2

A = { 10v 1.5 (106 1.5-a25)1007.5 ~6715) (j0v1.5-525)

A= 2504 ] £¢7)
Ito-95-2g =1
non
anp 6\»\ q—\ 3 Q\V\Bg
L bl L S ES—
| hoind = 100Sh2¥’
(o = qu.2fL

180 <102-50= 28

ﬂ .
T a8 _ SIS0
\ X 4
* 2 st = XenD

44 =X
;ﬂft \

Scanned with CamScanner



\o®

A*= 200 +loo*—2(200)(100) Cos |16

@= 132700, 08
0= 297.7 m.

Scanned with CamScanner



